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Ĵ

���
� �+���J �"��%� � 	�����t ��� hM����(8	
L

��������	���#%# 	 � 1 �
��#
�
��	10������)(+��������� �� �� ������� 	����
	k������( 	

f(Lsa)
0�������� �'�%���'� !��'�%�����! �(+�'�������8	�����8�� b 	k +�Vo

� ������� 	�	��
dL

3'��������&M�!(��J"����
�

f(Lf ) = f(L + dL) = 0


/����Me
�

3'� (+�'# ����(+��� � �C�p"2�'�'b ��������� ���%�98��Cb 	! +��oq�5������� 	�	����) ( #%���
��(��Cb]j���#
	10 ������� ���%�?d ���qo
�E� �0" �C����� ����(

O(dL2)
�+�'����������# j������c( 	 b �'�����'� (�*+������� � ��� 	���� J ���gb �'��������(4���'�

d �_� #c +�������
��� 

/������ � (�*�������� ���
� 3�����&M�)$
7�#%#%����(~�� �� � #%�'�%��� ����( 

/����Me
� ��  	ub �'�����c(����
8��Cb 	! +��og� ������� 	�	�� �E�
	 ����� #
�%���������
���%�'��	����?� #%�'�%��� ����(+���)� ��	����

dL = − Ĵ
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